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MAT.05.ER.3.0000A.A.610 Claim 3

Sample Item ID:

MAT.05.ER.3.0000A.A.610

Grade:

05

Primary Claim:

Claim 3: Communicating Reasoning

Students can clearly and precisely construct viable
arguments to support their own reasoning and to
critique the reasoning of others.

Secondary Claim(s):

Claim 2: Problem Solving

Students can solve a range of well-posed problems in
pure and applied mathematics, making productive use
of knowledge and problem-solving strategies.

Claim 1: Concepts and Procedures

Students can explain and apply mathematical concepts
and carry out mathematical procedures with precision
and fluency.

Primary Content Domain:

Operations and Algebraic Thinking

Secondary Content Domain(s):

Numbers and Operations in Base Ten

Assessment Target(s):

3 A: Test propositions or conjectures with specific
examples.

2 A: Apply mathematics to solve well-posed problems
arising in everyday life, society, and the workplace.

1 C: Understand the place value system.

Standard(s): | 5.0A.3, 4.NBT.4, 4.NBT.5
Mathematical Practice(s): | 1,2, 4,7
DOK: | 3
Item Type: | ER
Score Points: | 2
Difficulty: | M
Key: | See Sample Top-Score Response.

Stimulus/Source:

Target-specific attributes (e.g.,
accessibility issues):

Notes:

Part of PT set
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Branden’s teacher said that beginning at age 2, children grow
about 6 centimeters per year. Branden is 125 centimeters tall
and is 9 years old.

In the table below, Branden used his current age and height to
calculate his possible height for each of the previous 3 years.

Branden’s Age and Height

Branden’s Age | Branden’s Height
(years) (centimeters)
9 125
8 119
7 113
6 107
Branden used the equation 7x6 + =125 to estimate how tall

he was at age 2. Will the equation give him a reasonable
estimate of his height at age 2? Explain your answer by relating
the information in the table to the given equation.

What is a reasonable height for Branden at age 2?

centimeters
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Sample Top-Score Response:

Yes, because Branden was 2 years old 7 years ago. 7 x 6 will be the number of centimeters
he’s grown. If you subtract that from 125, you should get how tall he was at age 2. Also, if
you follow the pattern in the table (-6) and go all the way down to 2, you get the same
answer; 83 centimeters.

Scoring Rubric:
Responses to this item will receive 0-2 points, based on the following:

2 points: The student demonstrates an ability to construct viable arguments in support of
his or her reasoning by providing a complete explanation about the equation that
represents the information in the table, and by providing 83 centimeters as a reasonable
height.

1 point: The student demonstrates a partial ability to construct viable arguments in
support of his or her reasoning by providing 83 as a reasonable height, but does not
adequately relate the information in the table to the equation.

0 points: The student demonstrates inconsistent or no ability to construct viable
arguments in support of his or her reasoning.
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